RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, FL-20474.3

(O

Sune Rock

Works

Fiberglass

SURE ROCK

OPAQUE FIBERGLASS ENTRY DOORS

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 5th Edition (2014)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required fo be protected with an impact resistant covering that complies with
Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Vertical & Horizontal Cross Sections (2X Buck
Vertical & Horizontal Cross Sections {1X Buck
Vertical & Horizontal Cross Sections {Direct to Masonry)
Vertical Cross Sections (Thresholds)

Buck Anchoring

Frame Anchoring & Hardware Details

Bill of Materials & Components

—lalwlm|Njov o |wlN]|—

74" MAX. O.A.
FRAME WIDTH

81" MAX. O.A.
FRAME HEIGHT (OUTSWING) '

81.75" MAX. O.A
FRAME HEIGHT (INSWING)

-

P.QO. Box 230, Valrico, FL 335985
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

SURE ROCK
FIBERGLASS DOORS
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

NO| DATE

REVISIONS

oATE: 5/17/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

104" MAX. OVERALL FRAME WIDTH
74" MAX. DOOR 13.5" MAX. SIDELITE
FRAME WIDTH FRAME WIDTH
g 2
<Z < :.;e
°Z 53
X e :
< T § b=
20 =0
= I = T
53 W
— | l~— REINFORCEMENT
DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION %ﬁéﬁ‘;ﬁ:“i REINFORCEMENT INSWING OUTSWING
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
XX 74.0" x 81.75" N/A +60.0 -60.0 +60.0 -60.0
OXXO 101.0" x 81.75" NONE +40.0 -40.0 +40.0 -40.0
OXXO 102.5" x 81.75" 1X +55.0 -55.0 +55.0 -55.0
OXXO 104.0" x 81.75" 2X +60.0 -60.0 +60.0 -60.0

DRAWING NO.:
FL-20474.3

SHEET _1 oF 11

© 2016 R.W., BUILDING CONSULTANTS INC.




R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 2.3

POLYESTER

]—* 1.35" *—i

HINGE STILE

(LVL)

0.5" —
| F.ss" -

—-1.35" *l / (LVL)

LATCH STILE

POLYESTER
RESIN

PVC CAP

012" ——
0.30"
\2/
35.75" MAX.
PANEL WIDTH

79" MAX. DOOR PANEL HEIGHT

l

==

2.9
] E— 5.5

b

. DOOR PANEL

FIBERGLASS DOOR SKIN: MIN. 0.080" THK.
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

37.5"

SEE HARDWARE
CHART

12.5" LONG
(LVL)

m HORIZONTAL CROSS SECTION

i o
POLYESTERRESN  LOCKBLOCK —jL 0.30"

12.5"LONG

KNOB:

Signature Series

KWIKSET | heaDBOLY:  Signature Series (980)
sc £ KNOB: F Series {F51)
HLAGE | hEADBOLT: B Series (B6ON)

POLYESTER

RESIN e

TOP RAIL
(LVL)

-—1.75" —=—

0.30" *l
~—1.65" |

FOAM CORE

DOOR SKIN —

BOTTOM RAIL—"|

{LvL)

POLYESTER
RESIN

~— 0.30"
1.65" —=

s

/ 2"\ VERTICAL CROSS SECTION

\2/

S C)

Loriok..

ONAL

1
INC.

Y

BUILDING CONSULTANTS,

%
{

»)
7,
7,
)
813.659.9197

P.0. Box 230, Valrico, FL 33595

Documents Prepared By:
Phone No.:
FBPE C.A. No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

SURE ROCK
FIBERGLASS DOORS
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO| DATE

oATE: 5/17/16

scae: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-20474.3

SHEET _2 oF 11

© 2016 R.W. BuiLoing ConsuLTANTS INC.




RA\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 3.3

POLYESTER
RESIN

HINGE STILE

[-* 1.35" *1

(LVL)

Vi

79.25" MAX. PANEL HEIGHT

12" MAX. PANEL
WIDTH
>
1
5.88'D.LO. nl
WIDTH 7
(1N

3/

62.88" D.L.O. HEIGHT

K

0.12 "l t
0.30" ~»

m HORIZONTAL CROSS SECTION

3/

WIDTH

8.81" FRAME

1275'0.C.
(TYP.)

k

B
3.25" (TYP.) —=

10.5" (TYP.)

/

1-1/2" PPH
PLASCREW

65.81" FRAME HEIGHT

LITE FRAME

@ SIDELITE PANEL

FIBERGLASS SIDELITE SKIN: MIN. 0.070" THK,
CORE MATERIAL: POLYURETHANE FOAM {1.9 PCF MIN.)

INTERIOR

1/2" GLASS BITE —s—{ =

1-1/2" PPH PLASCREW

ALUMINUM SPACER
NON-STRUCTURAL
BACKBEDDING SEALANT PVC LITE FRAME
(HOT-MELT)

1" OVERALL GLASS THK.

E/u " TEMPERED GLASS

/i

= AIR SPACE

!

GLAZING DETAIL

2.55"

!
%
v

PVC LITE FRAME
HM SURE ROCK

e

= 1/8" TEMPERED GLASS

-—1.75" —|

POLYESTER
RESIN g

TOP RAIL
(LVL)

FOAM CORE

EXTERIOR INTERIOR

DOOR SKIN —

BOTTOM RAIL—"|
(LVL)

POLYESTER
RESIN

7“2\ VERTICAL CROSS SECTION

[CAY)

P.O. Box 230, Vairico, FL 33595
813.659.9197

7
7

BUILDING CONSULTANTS,

Phone No.:

FBPE C.A. No. 9813

Documents Prepored By

Lyndon F. Schmidt
P.E. No. 43409

Ry

SURE ROCK
FIBERGLASS DOORS
PART OR ASSEMBLY:
SIDELITE PANEL DETAILS

PRODUCT:

BY

REVISIONS

NO. DATE

oate: 5/17/16

SCALE:  N.T.S.

DWG. BY: JK

N

CHK. BY: LFS

DRAWING NO.:
FL-20474.3

SHEET _ 3 ofF 11

© z2o1e R.W. BuiLoing ConsuLTANTS INC.



TON[ SLNVLINSNOD aNIaTng "'M'd 9102 @

£i86 'ON V'O 3d84d
LBLB'BGO'CLR "ON 8uoyd

SBSEE d ‘O2UIDA ‘0§Z X008 'O'd \Sv
*ONI “SINVLIINSNGCD 9NIATiNg @u

SNOISIATY

Ad

SNOILVAI TS

SATEWISSY HO Livd

60ty "ON "I'd
IPIWYDS "4 Uopukl

SY00Q SSY1943414

AJ0H 34NS

110Ngodd

31va [ON} o |-
1.S.Mr5: + |
Wm Slox|e
~ o
2] ER|Y
RAHERN
Wlglglel|Z2 1l
ISz F|2 T
a|lunioto|lo [

N ! g9 g
£ L eomeron ¢ =D %\
\\\ .‘.. ..'. ,,l
%, $os i, &
7, Cesese T’y N
%, \SIOw W////
mnn
o~

\5
q
/6
N5
0)

NNV,

|@ml

A

~0

b

(e

£ BMPE-T'hL502-TANPT0Z) bLy0Z-T\sBumesq - D\pLp0Z-T4\s|eroiddy 19nPOIg ePLOId - VALNINYINYd %00y 2InS WH\SIUBID\Y



) . S
| R A 8
T Sy G
Z a4 g e =
Z I Z 0 =gn
s — z m;...% g 5o
@ < £ ? = /’/, ? > " of
- © o =2 §8% ¢
' INTERIOR £t oxz<
Eao % 1) ©
L0 O . € Lt
O < =00 9oQ
. 7% Bagl
& ) - o
| N bl i s
p v ; O EMB. (TYP.) B
‘_é’, 3 X/ 25 EXTERIOR — c -
EXTERIOR | | INTERIOR =™ EXTERIOR % INTERIOR %% o S
S SEENOTE 1 0 ;:2:
((1°\ VERTICAL CROSS SECTION "2\ VERTICAL CROSS SECTION /4 "\ HORIZONTAL CROSS SECTION 58| =%
\y Outswing shown {Inswing similar) w Outswing shown [Inswing similar) w Outswing shown (Inswing similar) DRE f%
G |2 ]2
T 14 %%
NOTE: 2 S| £Q
1. Spacing for item F: 6" from ends § =l O
0 and 4 more eqUG"y Spoced Q‘Ong 1X REINFORCEMENT a 3:.
sidelite (6 total).
2X REINFORCEMENT
, _ 015"CSINK 0.15"
A "l (TYP) CINK = :
v {TYP.} 5E e AL - 15"
- ; ’/® I i : |=— C'SINK o
: . ‘/’/1///// (AL ‘ (T\(P’) %
INTERIOR SEENOTE | sty @ 3
..... >
® ® @ ® () :
@ / INTERIOR
\ ’ ‘ | :
1 i : > S m W é\ﬁl le =
1 bi| - " 0 Q Nl - S
N 4 : i f @ - @ ’ 3 ’ 1l ‘ — %
~ . DaTE: 5/17/16
T @ @é % EXTERIOR @é b. ‘ é@ SEENOTE | o /N. 7{5.
1-1/4" MIN EXTERIOR owe. B: UK
EM. 17 (5 "\ HORIZONTAL CROSS SECT'ON /\HomzomAL CROSS SECTION T
/"3 HORIZONTAL CROSS SECTION ("7 "\ HORIZONTAL CROSS SECTION K& Quswing shown [Iswing simir] (5 Outowig o frowig e e
w Outswing shown {Inswing similar) \5'/ Qutswing shown {Inswing similar) {1X Reinforcement Similar] Shown w/ No Reinforcement : )
SHEET _5 oF 11

RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014\\FL-20474.1-3.dwg, 53

© 2016 R.W. BUILDING CONSULTANTS INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 6.3

1-1/4" MIN
EMB. (TYP.)

EXTERIOR

INTERIOR

/"1 \ VERTICAL CROSS SECTION

w Outswing shown {Inswing similar)

1. Spacing foritem F: 6" from ends
and 4 more equally spaced along
sidelite (6 totdl).

1-1/4" MIN.

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

A\

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

w Outswing shown {inswing similar)

EMB. (TYP.)

7”3\ HORIZONTAL CROSS SECTION

w QOutswing shown {Inswing similar)

INTERIOR

EXTERIOR

//

é et 1-1/4" MIN.

SEE NOTE 1 EMB. (TYP.)

/4 HORIZONTAL CROSS SECTION
W Outswing shown (Inswing similar)

)
o
n
)
[S L
z
,..__J'\
o
2] .
282
22
T Dow®
:)>n'01
g .-
Ow O
omn z
O o -
S
o o xz%<
= Z 270
Eo FDo
£0 -
O < —OOQ_
[0 o A ol 13}
¢+ Doal
LL‘.
o
C
S
o .
£ ul
2o e§

SURE ROCK
FIBERGLASS DOORS
HORIZONTAL & VERTICAL
CROSS SECTIONS (1X BUCK)

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oatE: 5/17/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.3

SHEET 6 oF 11

© 2016 R.W. BUILDING DCONSULTANTS INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 7.3

NOTE:

1. Spacing for item F: 6" from ends

1-1/4" MIN.
EMB. {TYP.)

EXTERIOR

INTERIOR

/"1 "\ VERTICAL CROSS SECTION

w Outswing shown {Inswing similar)

and 4 more equally spaced along

sidelite (6 total).

v 1 @

7”3\ HORIZONTAL CROSS SECTION

\7/ Outswing shown (Inswing similar)

1-1/4" MIN.
EMB. {TYP.)

EXTERIOR X/ INTERIOR

A\

/ 2"\ VERTICAL CROSS SECTION
w Outswing shown {Inswing similar)

INTERIOR

EXTERIOR j 1-1/4" MIN.,

EMB. {TYP.)

/4 HORIZONTAL CROSS SECTION
\U QOutswing shown (Inswing similar)

N

SHEET 7 oF 11

7,
. v
. »” o
. $ n
'.. : n
.<:-—- g~
'z~ . LLO’)
Ql:o:m .-
oSz 8
SPT ZER D
- > Jouwwm
N o v 2}
D\\\\ 2 L2
Cw o
PO 3
L o x d<'
S 20%0
5§ Eo 3%
a €0 8 cuw
2Ry 5024
LT moo
2 b
c 9
o C
E 6% §
3 U .,
s su
& 2o
ne
=
L=
xS
519!
n =3
& T=
xQ 90
(38 e
QO: cop Ladpn
93 et I &
we @ 03"“’
s = Qc
AL 7] ~J\Q_,
S (=)
5 = |g 88
5 O N=
[} - G
e |z
a &
>_
o
v
pd
O
2
o
[
g
z
0
f_.
~BE
<l |5
O 3
0
4 |z
ol {0
pd &}
n
oate: 5/17/16 |z
a
SCALE:  N.T.S. 2
3
DWG. BY: JK @
cHK. BY:  LFS 2
DRAWING NO.: z
FL—-20474.3 o
]
©




TANG SINVYLANSNGOD aNia™ing "m's 9102 @

€186 'ON V'O 3d84 SNOISIAZY
/616°6G9°CL8 'ON auoud (SAI0HSINHL) SNOILO3S 8 SIva TON - |
SBSES T4 ‘OSMIPA ‘08Z Xog ‘O'd \§ SS040 WOULYIA 2lulx 2 < 1_
"ONI ‘SINVLIINSNOD ONIGHNE gu TNIBW3SSY 80 19vd W [ =3 _M o
NE g 8o

60bSHE ON "3'd SH4000 SSV19y38l4 Te) ElEle |

IPILYDS 4 uopuk] A00d 3FdNS MEIFIME Dl
o 3\\%0 paipndaud sjpuswnsoq 10NC0Hd W m W nHu W %

E . goveroN s N
N -_.- .o-. .”,
%, Lo IoNaoN A, &
“3Oiiise 3 o
\\\ Iuw ///
Yy
("dAL) "aw3
NIW.F/1-1
[274
@)
[
L
—
>
L

A

/ 4\ VERTICAL CROSS SECTION

/"3 VERTICAL CROSS SECTION

\8_/ Inswing Threshold
xN
W Outswing Threshold

INTERIOR
50
(1)

('dAL) "aw3
"NIW .F/1-1

("dAL) ‘gw3
NIW ./ 1-1

INTERIOR

EXTERIOR

/" 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

A

/"1 VERTICAL CROSS SECTION

W Inswing Threshold
A\ \

('dAL) "aw3
NIW .#/ -1

INTERIOR
)
EXTERIOR
O

€8 BMP'E-ThLb0Z-1I\BT0Z) PLb0Z-T4\sBUMEIQ - D\p£FOZ-T4\SIeA0sddY 1DnPOId BPLOS - VALNINVINYIA 00y 8InS WH\SIUBID\Y



RAClients\MHM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 9.3

3" (TYP.) ——

MULLION
3" (TYP.)

3" (TYP.) ——
7 (TYP) £
| e -
= I 11 - — T
4  ;; . o d
= E e
2X BUCK —
{TYP.) \
HEAD & JAMBS
- (TYP.) -
MASONRY g :.E_
(TYP.) 26
-— — e
= -
XX
2X BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joinfs.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

MIN. CLEARANCE
JACE g

mw

TAPCON® 1/4" 1-1/4" V' 4"
ELCO N . . :
utrracon®] 14 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood.

_ . 7"(TYP.)—-—I
I

11

HEAD & JAMBS
(TYP.)

RN
N
I
H
H
|1
[
|1
|
H
I
I
I
H
H
[l
!
L]

|

OXXO

o)
z
= N
. (o]
[#)] .
Zg82
2c3?2
<
J00Q®
3 )
D 2 s
Cw o
) En®z
b O N -
o= o x2<
e 2 Z 0°0
s Eg Z Mg
1559 358
N\ Pa¥ 5092y
. ¢ DodL
\9 je v
c ]
¢ c
E 0% L§
3 0 .
s su
a 2o e%
18 &)
5 =
X0 v e
&) &)
S X
T [} O
vy 0 Z
LLJ$ m| <C
s =
S0 Ll X
nx vl O
L [72] e
L, DI ®
= [ o
o
2 o
o E
© <
o O.
>_.
8]
)
b
o
w
ol
'
L
‘_—-.
<€
o
o
Zz
oaTE: 5/17/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-20474.3

FL 33585

SHEET _9 oF 171

© 2016 R.W. BUILDING CONSULTANTS ING.



R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014\\FL-20474.1-3.dwg, 10.3

" O %,
" - ; MULLION DIRECTTO \\\\ Y PRl @/,/
8" (TYP) " (TYp)) £ (TYP) —— £ (TYP) —— & MASONRY FQ «2 §
4" (TYP) ‘ 8" (TYP) . 8" (TYP) | ~(TYP) 1X BUCK = %g % FAIERE
i L=z
1 :l Pl | T T LN 1 L )2XBUCK _:_%:_‘ ; gggsm.u_@
— e — — — — - .o 5 -~ )]
i f 1 ! 25 @Sz lgn
Y 7~ ‘e N A
o 0/ // : AT T N 33 LD‘ 3
Il SEE DETAIL 1 & 2X suck || SEEDETAIL1 B o R S Z_g °
2x3ucu< I - = - = I K ol = == TRt BN omn®2
1 1XBUCK I 2 s 0 <
IXBUCK 1l DRECTTO || 2 o 3T 28%06
5 ) a o
FRAME - pIRecT 1O ! -—l T - - MASONRY || 1XREINF. - DETAIL 1 ‘ g‘} gg =5 _§ %
(TYP.)\ MASONRY || HEAD & JAmMBs || NO RE‘NF-(TYP) Astragal Strike Plate @ Head G ¥ ®eoan
HEAD & JAMBS |1 (TYP.) I § .9 §
- (TYP.) I - - - l — - 5 '§m-
I s I T $5i &
0 I e o I IE
— l [ - z ) — m— - = )
o || SEE DETAIL2 =3 e H SEE DETAIL 2 =3
o~ ~ & O
SIL H L I = o = ‘@oﬁ Sl 2
- TYP. - - . - > Q
™P) N1 I d e ™ N | = x | 82,2
I =
LLJS o <
G 22 |3 ¢
o {0 2
XX OXXO DETALL 2 DETAIL 2 gl £ [of €
" Astragal Strike Plate @ Sill  Astragal Strike Plate @ Sill 12 -
ss Inswing Outswing 2 ©
FRAME ANCHORING 5% o &
xE
s U >
0 t
— o
- e
1—: 0
&)
G DIRECTTO n
. >
S MASONRY o
hic TXBUCK
CONCRETE ANCHOR NOTES: % @
1. Concrete anchor locations at the comers may be adjusted to mainfain the min. d 2X BUCK
edge distance to mortar joints. \
2. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to \ EE'B )_\*
maintain the min. edge distance to mortar joints, additional concrete anchors :’ e
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. ] d e H e Lui
3. Concrete anchor table: ~e 1] S@ g:
\ -
\‘}‘ A\ =
TarcoN® | 1M 114" 2 3 @<:' i HINGE DETAIL owte: 5/17/16
ELCO  of /g 11 " & 3 3 T
ULTRACON / -1/ DWG. BY: JK
W ol 316 1.1/4" 3 1-1/2" LATCH AND DEADBOLT STRIKE PLATE DETAILS — cik. B:  LFS
TAPCON : DRAWING NO.:
WOOD SCREW INSTALLATION NOTES: ASTRAGAL JAMB HINGE JAMB FL—20474.3

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

sHeer 10 ofF 11

@ 20016 R.W., BUILDING CONSULTANTS INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 11.3

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A | 1XBUCK [SG >=0.42) WOOD
B | 2X BUCK (SG >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -
D | 1/4"X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
= | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR CONCRETE
HOLLOW BLOCK CONFORMING TO ASTM C90
F | #10 X 2" PFH WOOD SCREW STEEL
G | 3/16"X3-1/4" PFH ITW CONCRETE SCREW STEEL
1 [ 1/4°X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
K| 1/4"X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT] STEEL
M | 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
X__|1X OR 2X REINFORCEMENT {SG >= 0.55) WOOD
1| FRAME [SURE JAMB) COMP
& | WEATHERSTRIP [Q-LON] FOAM
8 | SWEEP VINYL
13| INSWING THRESHOLD ALUM/COMP
14| OUTSWING THRESHOLD ALUM/COMP
18 | INSWING SIDELITE SPACER PVC
19 | OUTSWING SIDELITE SPACER PVC
23 | #10 x 3/4" PFH WOOD SCREW STEEL
24 | #10x 1" PFH WOOD SCREW STEEL
25 | #8 x 2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29 | 4" X 4" HINGE STEEL
30 | ENDURA ULTIMATE HURRICANE ASTRAGAL ALUM
31 | ASTRAGAL SHOOTBOLT STRIKE PLATE STEEL
40 | DOOR PANEL -

30

I

2.68"

ULTIMATE HURRICANE ASTRAGAL

i 4.6" i

0.5" —=| Q
247" !

FRAME
SURE JAMB

r— 1.5" --t

13 INSWING THRESHOLD
ENDURA {Z-SERIES)

14 OUTSWING THRESHOLD

ENDURA {Z-SERIES)

PR I N

45

0

. SWEEP

T TWO>
T‘L‘— 179" —]

——

o
3
=
<
@
@
o
s
@
>
o
x5

i 2.36"

T
—{}=—0.06"

P.0. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

w

Lyndon F. Schmidt
P.E. No. 43409

R

813.659.9197

FBPE C.A. No. 9813

SURE ROCK
FIBERGLASS DOORS

PART OR _ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ DATE

REVISIONS

bATE: 5/17/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.3

sHEET 11 oF 11

© 2016 R.W. BUILDING CONSULTANTS INC.



